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EOREELRARERNEXFF -

1. /£ 2648.13 3B - [8] 4 [3 | WyEfamE %V ?
A. 0.09 B. 0.99 C. 7.07 D. 7.97

Q) 2 66 £FRAEHEE ARALEAFLNEA 23050 ke &
23.050 EBFZI P o AE /e AaEeg (0] T AR 2

I +o4% II. 5 49-4% L. + 494%

A AR I B. XA I
C. RAIAIN D RAIAI

@) 3 —EHTREERAIA 4G L LBITPRAT > ml o AR

%0 FRMEZKRER KRG —F ?

13 1 9 1
AlﬁmL B.ZZmL C. SﬁmL D.SﬁmL

4. )& X k£ 8.6 km /&Y 1% 0.82 km /J 4“‘ Z X2 Y 48 2.4

km: HHLNRY R=ms—Kk  E£3T %Y
A. 9.42 km B. 10.76 km C. 15.56 km D. 18.84 km
. — 16 \ P - —
5. 4= R % - A o EL ﬂiﬁ— o ME @ fm A THAELERTF ?
A. @= 16 A= 4 B.@=1' A= 32
C. @=1' A= 64 D.@=2' A= 64

& TFIRE -

6. & @A — K EF AR  — R EHRALRRY 5 EER—AGR
HRESY ? (A XFHHE)

1
420m
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o AHIACKR KRB ARANEERVRETS ©

@) 5B+ ERMEREED 2 \ N
BIES 600 ~ 5 X 2 = 240 (cm®) Emm‘"' Emm’

EORELELARERNEXFF -

1. H 530 5 MBEARZ L 20cm’ W EIEEmER
— R ERN » KALGH A —18 %] E ?

|
A. 100 mL B. 225 ml. [EEJ FrEARNGBEE
3 o
C. 250 mL D. 550 mL cm

2. FBA—MAEEA 1 AVNESTHRET & T A
S0 B EFHEAKR  BEARGEMAL 1oan’ » /A
ZREBRRKEZ VEATURET T RHAH ?

A. 950 B. 900
C. 850 D. 50

3. e —ERIE & & MK RIEEE L @AY IE T I
BHEN AFERTHEBEN—F - REEFNE

T2 %) ?

A. 1728 mL B. 864 mL 12 om
C. 432 mL D. 216 mL
4. EBTHBENTH 2 KK je—EKkE L
EHK Rl HAE BB AN Be g
WILH 7K o ZKEGESTLES Y ? 27cm| |
A. 750 mL B. 1050 mL g
C. 2250 mlL D. 4050 mL [ 10 cm
15 cm
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ot 1o N =2

e * W 5 5 :

5. — 18k K4r 89 5B R 8000 mL -+ B HKT - Ak o de— B L E 2K
ANKAKREA » FHhK 600 mL » B GG EAE S ) 2

2

A. 1400 cm’ B. 2600 cm’ C. 5400 cm’ D. 6600 cm’
6. 'ﬁﬂfﬁﬁfﬁ ’ E%ﬁ‘]}?;ﬁﬁkﬁ%"‘%7kﬁﬁ3 500 mL

R T AN SEETHZ  RBENMKEE

JoiE Sk FIBAAL S Y 2 250 mt

A. 100 cm’ B. 160 cm’

C. 400 cm’ D. 640 cm’

r N N N N

] EJ [ L

rEP & N\ o
A. 30 cm’ B. 25 cm’ C. 20 cm’ D. 10 cm’

EETHIEE -

8. HFEMWBENCET —FK Lyl mt 2.5 m’ kT 6 em
BN mETREVEmAKRGTHES ?
4 cm

R % 5K ¥z o 10 cm

9. XX 1 Lag KA 2% 220 mL ¢ B4R T A E —MEk 12 cm >~ B 10 cm 7 5
20em 9k H R ENIEA o

(a) Aok R FHELSZ Y ?
RitwgdmEL_ cmo
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1.%55%1‘5%@1%%1 NERE DAL

e, %ﬁj—g/\gi B NG N-F 20% F2 40% Z M o T 7R —18 BT 4E T
Néﬁiéi ?

A. 1 B. 2 C.5 D. 7
- RESH ' P mane I
A 20% F1 40% 2 T8 » BI/NECA T 0.2 5 E Ak A S
04 2 o W 7
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WA An B = 49 8 ﬁﬂﬁk 8% & % 15 cm 89 somT| | ‘ ‘

~ i [ f [
E7 o B eimE s ) ? T
le N|

A. 360 cm’ | 32 o . |

B. 2655 cm’ B — B =
C. 2907 ¢cm’
D. 3015 cm’
. RESH | EERE L
: 51]/‘ 75 A /; AV = A Y H o : « N
! =i J\i_‘%§6cm HIIEFTEAEE - ERREFEERE 6 cm i 25 o A5 TERRH
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HONG KONG ATTAINMENT TEST
(Pre-Secondary 1)

F— AEZR] HEERHE
Mathematics B2 ¥}
Primary 6 ;<& #

Mock Paper 4
BEEiss ()

Time allowed for the test: 50 minutes
BB 5004

~1"

Instructions:
1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36

2. Answer ALL questions.
3. Write your answers on the answer sheet.
4.  Write your name, class and class number on the answer sheet.
5. You may do your rough work in the blank space of this test booklet and
there is no need to rub it out after the test.
6. You can use a pencil or a black / blue ball pen to answer the questions.
7. The use of calculator is not allowed.
BAEAMN:
1. ARBRE LA RIES
FaR L H1EFH30M
3 H31EF36H
S 3R A HIAEA o
ARG ELMKLE -

PRI LB L HER AL o

Sk TR RBBRE G EERSMEFE MR ES AN EEREL -
EAETWMERE /) EERKREEL -

RAEAE R A o

Nk W

REHEHRERLF
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A fashion shop buys 140 pieces of
clothes. Y of them are women’s
: 3 )
clothing and = of women’s
clothing have been tagged with
price. How many pieces of
women’s clothing have not been
tagged with price yet?

A. 15 B. 20

B %K EﬁﬁTlmﬁRﬁ,k
#@—’ﬁ# W e A AR 4%
%%f—’*mLF&%%%
z&&ﬂﬁﬂé‘y A2

25 D. 80

Bucket R contains 5.2 L of water
originally. Then, Matthew pours
1.24 L of water into Bucket R. If
Bucket S contains 6.8 L of water,
what is the difference of water in
the two buckets?

A. 036L
B. 046L
C. 16L

D. 284L

KA RNEAR 52L K RXLAE
2124 LAKRBIERBR 4o X
KA SH 6.8 LA iEmMEKM
WNegKRABE S Y ?

A. 036L
B. 046L
C. 16L

D. 284L

The best result of the long jump
of Kenny is 5.1 m. His best result
is 1.2 times of Jacky’s. By how
much is Kenny’s best result longer
than Jacky’s?

A. 6.12m
B. 425m
C. 1.02m
D. 0.85m

fEEREREREA ST m
T X AR R AT R R A 1.2
1& o fEF M AR R AL KB
E5D?

A. 6.12m
B. 425m
C. 1.02m
D. 0.85m
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Mock Pape

19. At most how many lines of
symmetry can be drawn in the
above figure?

A.

B
C.
D

1

2
3
4

caw >

A W N =

S S ARE AR 2

20. Which of the above figures has the

/P
=

shortest perimeter?

A.

B
C.
D

P

“w om0

S
F

20.
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SECTION B

Working steps must be shown in

V4

&b

BREGBIEAN > EOERFEER - A

answering questions in this section HIHTELER -
unless specified otherwise.
31. The graph below shows the 31, TEEFTAREIERLEFSFAK

production and sales of wooden
chairs in a carpentry factory in the
first half year. When the production
is greater than the sales in a certain
month, the factory keeps the
remaining in the store. When the
production is less than the sales in
a certain month, the factory use the
stock in the store for the sales.

Mok EE A E v ERA W
2 EBSHHER S LETIRE
Rerwk A ERE R L g XA
WA EE VAT LR
ERERENGERRBELE o

Production and Sales of Wooden Chair in a Carpentry Factory in the First Half Year

AEIREX¥FARNEEENHEE

T 7
© - . I:I Production
3 6 1 FES
< — L L . L
= S 11 11 1 @ Sales
N — L1 L1 L1 L1 L1 L1
= 3 L—T1 LT LT LT LT L]
8 g 5 — L1 | L1 | L1 | L1 | L1 | |
8 | L L L L L L
9 1 L1 L—1— L—1— L—1— L—1— L
:E; 0 — L1 L1 L1 L1 L1 L1
z January February March April May June
—HA —A =H mA HA 7~H
Month
B#

(a) What was the average monthly
sales of wooden chairs of the
carpentry factory in the first

half year? [4 marks]

(@) AL T ELFETHEA G
AMELS VD [45]
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